Answers

1) a) First, you find an equivalent fraction for one of the fractions so that both fractions have a common
denominator. Then, you subtract the second fraction from the first fraction.
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1) a) This is never true. You only subtract the numerators. If you subtracted the denominators, it would no
longer describe how many parts are in one whole.

b) This is always true. You must change one of the fractions into an equivalent fraction first. Both fractions
need to have the same denominator so the parts that make up each whole are equal. This allows you to add
them together or subtract them from each other.
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Children may have used one of these methods to answer this question:
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3) £ is equivalent to | whole. They should be at the same point on the number line, so Afzol should only have added one
Jump of 2 and another jump of % to reach 2.
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Children may have used the inverse to solve these.

@) $-3°%955°5"%
1

visit twinkl.com

" %

»
Quality Standard

Approved J



https://www.twinkl.co.uk/resources/white-rose-maths-resources/year-5-white-rose-maths-resources-key-stage-1-year-1-year-2/spring-block-2-fractions-year-5-white-rose-maths-supporting-resources-key-stage-1

